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January 29, 1990

Patti Gardner

Program Analyst

NHTSA

400 7th St. SW, Room 5307
Washington, DC 20590

Dear Ms. Gardner

The following is an example of the check didget
calculation. Also, we changed the I to an E not F.

' Under #4 Under #5
G- gooseneck G- grain
T- tag E- implement
U- utility U- utility
S- semi B- box
V- van V- van
F- flatbed T- trailler
Under # 11

E- Elliott, IL

For example: GG would mean gooseneck, grain
TE would mean tag, implement
UT would mean utility, trailer
SV would mean semi, van
VB would mean van, box

so on and so forth.

Sincerely, ‘ »

Frank Stocker
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